
z
j
a
z
d
 
k
m

 
7
+

8
5
8
.
2
8

4.0

R

=

4

R

=

4

z
j
a
z
d
 
k
m

 
7
+

8
5
6
.
8
9

4.0

R

=

4

R

=

4

z
j
a
z
d
 
k
m

 
7
+

9
2
7
.
3
2

4.0

R

=

4

R

=

4

z
j
a
z
d
 
k
m

 
8
+

0
2
1
.
3
3

4.0

R

=

4

R

=

4

z
j
a
z
d
 
k
m

 
8
+

0
1
4
.
4
0

7.0

R

=

4

R

=

4

z
j
a
z
d
 
k
m

 
8
+

0
5
7
.
0
3

6.0

R

=

5

R

=

5

z
j
a

z
d
 
k
m

 
8

+
1

9
4

.
4
5

5.5

R

=

4

R

=

4

z
j
a

z
d

 
k
m

 
8

+
1

0
1

.
8
1

5.5

R

=

4

R

=

4

z
j
a
z
d

 
k
m

 
8

+
3

1
4
.
8

5

4.0

R

=

4

R

=

4

z
j
a

z
d

 
k
m

 
8

+
3

1
5

.
3

4

4.0

R

=

4

R

=

4

D

r

o

g

a

 
g

m

i
n

n

a

 
1

2

1

0

2

4

G

Sprawdzający:

Branża:

Tytuł rysunku:

Nazwa dokumentacji:

Jednostka projektowa:

Inwestor:

Podpis:

Podpis:

Podpis:

Opracował:

Projektant:

Nr rys.:Skala:Data:Stadium:Nr arch.:


